

Задание	Ответ	Задание	Ответ	Задание	Ответ
$-\frac{3}{4} + \left(-\frac{2}{3}\right) =$	_____	$\frac{5}{8} + (-1) =$	_____	$-4\frac{5}{6} - 1\frac{1}{4} =$	_____
$-\frac{7}{15} + \left(-\frac{3}{30}\right) =$	_____	$2\frac{3}{4} + \left(-9\frac{5}{6}\right) =$	_____	$9,5 - 3\frac{7}{20} =$	_____
$-3\frac{11}{20} + \left(-2\frac{19}{30}\right) =$	_____	$-3\frac{5}{6} + 4\frac{3}{8} =$	_____	$-10,3 - \left(-2\frac{3}{5}\right) =$	_____
$-\frac{1}{20} + \frac{1}{30} =$	_____	$-7\frac{8}{9} - \left(-9\frac{1}{6}\right) =$	_____	$6,7 - \left(-4\frac{8}{25}\right) =$	_____
$-4,6 \cdot 0,75 =$	_____	$-36,7 - (-9,6) =$	_____	$-1,68 : (-5,6) =$	_____
$-0,4 \cdot \left(-\frac{1}{10}\right) =$	_____	$2\frac{5}{11} : \left(-\frac{9}{44}\right) =$	_____	$-48\frac{3}{4} : 3,9 =$	_____
$5,9 \cdot (-3,5) =$	_____	$-38 - (-15,6) =$	_____	$72,5 - (-3,5) =$	_____
$8,5 \cdot (-4,5) =$	_____	$0,72 - (-7,75) =$	_____	$-10,8 : (-3,6) =$	_____
$-72,8 + 38,6 =$	_____	$87,3 - 9,77 =$	_____	$210 : (-42) =$	_____
$-22 \cdot \left(-12\frac{1}{2}\right) =$	_____	$89,3 - 5\frac{3}{7} =$	_____	$1\frac{7}{9} : \left(-2\frac{2}{3}\right) =$	_____
$-4\frac{5}{6} + 1\frac{1}{4} =$	_____	$-3\frac{5}{6} + 4\frac{3}{8} =$	_____	$0,75 : \left(-\frac{3}{20}\right) =$	_____
$-7\frac{2}{3} \cdot \left(-\frac{1}{6}\right) =$	_____	$\frac{4}{7} \cdot \left(-\frac{7}{8}\right) =$	_____	$-9,75 : 1\frac{1}{12} =$	_____
$-5,07 \cdot (-3,07) =$	_____	$-6,08 \cdot 0,7 =$	_____	$-3,8 : (-0,76) =$	_____
$-48,9 + 26,75 =$	_____	$-2,6 + (-1,4) =$	_____	$5,315 \cdot (-6) =$	_____
$-5\frac{7}{12} - 4\frac{5}{12} =$	_____	$0,8 : \left(-\frac{4}{35}\right) =$	_____	$-0,96 \cdot \frac{25}{28} =$	_____